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(x 5 5 3.14)

(x 3/4 3.14 5 5 5)
(* 55 3.14 15)

(x 55 3.14 15 1/3)
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(defun circle (r) (x r r 3.14))

(defun sphere (r) (* 3/4 3.14 r r 1))
(defun cylinder (r h) (* (circle r) h))
(defun corn (r h) (* (cylinder r h) 1/3))
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(defun sign (x)

(if (<« x0) -1 (if > x0) 1 0)))
(defun maximum (x y)

Gf G xy) xy)
(defun max3 (x y z)

(maximum x (maximum y z)))
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(defun powerl (x n)

(if (< n 1) 1 (*x x (powerl x (- n 1)))))
(defun power (x n)

(if (< n 0) (/ 1 (powerl x (- n))) (powerl x n)))
(defun crsum (x n)

(if (<n 1) 1 (+ 1(x x (crsum x (- n 1))))))
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(defun nprod (x f)

(if (< x 1) 1 (x (funcall f x) (mprod (- x 1) £))))
(defun sigma (x f)

(if (< x 1) 0 (+ (funcall f x) (sigma (- x 1) £))))
(defun newsqsum (x)

(sigma x #’(lambda (y) (* y y))))
(defun newpowerl (x n)

(nprod n #’(lambda (y) x)))
(defun newcrsum (x n)

(+ 1 (sigma n #’(lambda (y) (newpowerl x y)))))
(defun sigmamn (m x f)

(if (< x m) 0 (+ (funcall f x) (sigmamn m (- x 1) £))))
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(defun findroot (a b f)
(if (< (- b a) 0.0000001)
a
(if (> (funcall £ (x 0.5 (+ a b))) 0)
(findroot a (*x 0.5 (+ a b)) f)
(findroot (* 0.5 (+ a b)) b £))))
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>(findroot 0 2 #’(lambda (x) (- (* x x) 2)))
1.414213538169861



